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Redacta el enunciado de un problema utilizando el siguiente vocabulario:
Triple 
Iphone 4
Samsung S6



…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………







SOLUCIÓN: 234 euros.
